=)
2 —— Chromatic R 10 g20 ) e
s == Achromatic _8 = + e
Tl - 8 (@) 4
5 0 --- Baseline o © +1' L7
o 8 < ’
- Q X 4
5 E 6 . e
; = o //
g 2 3 o ,f
e g 4 IS e e ’ monkey A
2 4 g % oo monkey H
g — 2 ] i -
i} ) = x
IS .7
-6 ~ 0 5 0
10 50 100 20 50 100 150 5 0 20
Frequency (Hz) Frequency (Hz) Achromatic: gamma peak height (fold)
E F
0 12 0.04
454 Monkey A 1
1) o)
s 2
~ <3 2 0.02
3 Q £
° L @
e £ S]
% o = 0
g0 4 E
(]
: : 5
e 5-0.02
0 —h i — 1N —
20 50 100 20 50 100 0 0.4 08 1.2
Frequency (Hz) Frequency (Hz) Time from stim onset (s)
H |
0.354 Monkey H 35
5 = 0.08
1]
2 ®©
— Q e}
Qo =
5 o £
et Y % 0.04
g < g
g S 3
4 ) o o
k) T W
— LE m 1 B I H . -
0 -0.04
20 50 100 20 50 100 0 0.4 0.8 1.2

Frequency (Hz) Frequency (Hz) Time from stim onset (s)



